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9-81. See solution below.
Y,

9-82. See below:
a.-32<b<40
b.x<-33 orx>27

9-83. Let x = amount of trash for each household (pounds); 3280x + 1500 < 50,000; x < 14.8; less than 14.8 pounds
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9-84. y=2.75(1.05); $4.48
9-85. No; 3(7—2)=15and 15> 4

9-86. No; Bernie would pass Wendel after 36 seconds, when each was 81 meters from the starting line. Since the race was only 70 meters, that
would occur after the race was over.
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9-87. See below:

a.flx)=2-4*
Month (x) 0 1 2 3 4 5 6
Population (fx)) | 2 8 | 32 | 128 | 512 | 2048 | 8192
b fx) =5 - (L2
Year (x) o | 1t | 2| 3] 4| s | s
Population (/)| 5 | 6 | 72 [~86[~104]~124]~149

c. The function in part (a) is growing faster, the outputs in the table are larger for the same inputs, its multiplier is larger.




